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The frequency table shows items

sold at a school store.

Which item was the least popular?
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The table shows the number of
points made by the Middle School

football team during nine games.

Find the median of the data.

Number of Points
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Members of the Historical Society

keep track of how many visits they

make to the museum. The table

shows the number of visits made by

the 12 members this year.
Find the mode of the data.

Visits to the Museum
this Year
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Usama has three lengths of fence. A (flelal bl Apuaaal 5205 ALl (oal

He connects them to make a triangular Aila BplEia (Hant LgCanas Ao 2la Jeaygls
pen for his cat. ek -
If the lengths are S m., & m, and A0 M 56 1M <5 s el sl 1518
10 m., what type of triangle is formed TAIEY Spalio Ade JEEIT (g3l Sillal] ggl Lad

by the cat pen?
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How many angles of the triangle are
acute?
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One of the largest mining dump
trucks has tires with a radius of 2 m.
What is the diameter of each tire?
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Identify the quadrilateral with exactly
one pair of parallel sides.
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Figures L and N are guadrilaterals

L
Figures MW and N are parallelograms
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i Figures K and M are parallelograms ©
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Figures K and N are rectangles
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Choose the number of vertlces of the

tent.
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